MERAENS RIFME a8z RoEs)

B LB O S 7 R A

HERF AN DX 11 A 0% B SR EIIBS o 10 A 47
% SR TR OVE R IUIOH 5%, £ 1l Ao
RLIZOT, FOMEEELDT,

HESRoAD [ Fr28 F£11 B1 BEE )

—HHROHET AN CIHR 28 #-11 A 21 HAE) —

#EEt A O 3,686,679 A

O AOiZ. fifH &~ 266 AFALI-,
O Rk 28 4F 10 H o BRABIRE (A4, JE10)13 842 AR
P HEBEE (s A HizH) 13 576 A¥ENL7-,

AOBESR (28 £ 10 Ah) (A)

B 2 @) f& o= B &
Hi4 (A) 2,399 | #5 A (a) 10,475
JEL (B) 3,241 5t (b) 9,899
H AR (A—B) —842 | =¥ (a—b) 576

HEEDM [ Fri28E10 A% )

— RNB S EER O W G 28 4 11 A 256 AR —
HEEYMIERXEEM ™ 100.1, E#TH 100.2

(H27 4-=100)
il T ks
% A A b AIAER A b it A A ATAER A b
(H27=100) | (%) (%) (H27=100) [ (%) (%)
LCYEREE S 100. 1 0.5 0;0 100. 2 0.5 0;0
AEfERR A A BR < A 0.5 A 0.6
N 9.3 1 00 ) e | 0 [ %2 | qomnsemTm
R GEEAERR<) 0.0 0.1
BT R L ¥—% 100. 4 0.0 100. 4 0.2
B < R A s - BMASRY L5
3 = _
BRTHEEDEEROHERE (H27 £=100)
102.0
b—
1015 EHBRERGE
"""" BHCEEERO RUTRLX—EBREBE
101.0
1005 |
100.0
995

990 |
985 |
98.0
101112 1 2 3 45 6 7 8 9 1011 12 1 2 3 4 5 6 7 8 9 10
26% 275 284
N I B _
ERTUEREEDMEROHER (H27 £=100)
102.0
e
1015 | ERRRERME
1010 | e SHGEEERO RUTALF— 2R S
1005 A el . .. 1004
1000 -=~"N\ A - = AL
995 ... \J 995
99.0 |-
985 |
98.0
10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10
264 274 2845

SETEOEE-HFT-EE [ F528 £9 AnEk ]
— VG T SRR O 28 HE 11 A 29 HAAFR) —

H EEFR I 89.7 (22 tE=100 =Tt %)

O HERBUL89.7 T, miH HIL0.3%5 (22> A 50) | Hi4E
7 H EEURFEE01E 1.2%58 (202 A 50) LheoT=,

O HEe#I187.2 C. Al H thiX 2.2%1 (37> H ) | i
A A FEURFEEOI 0.3%18 (2 7> Hadife) & 72 o7z,

O FEEFRENT 115.7 T, AiH ki 3.0%i (22> A #5¢) | Al
FEE A FUFEFER0IE 2.0%8(19 72 H 50) L7257,

SEBRBOER (H22 F£-100 ZEIHEF)

15— — 5
N ST O S S I s S B S B S S o o o it s
L S e o o e B B o B e e e I B A
110:::::::::::::::::::E::::10ﬁ.1
RN 5

100

=]

a5

S RIF D@

L4

an

a5

oL
f=R ]

&0

I I i I I i I I I I I I I i I I I I I I I i I I
6510 11 12 2A 2 2 4 B A 7 8 9 10 1 fz22mA 2 3 4 B B 7 8 9
F£/H

w5 -HEREE-ER [ Fr2849 A7)
— fEH E5wE AR R (1 28 47 11 H 29 HAZR) —

FHRIH 5 (L 247,606 M ez

O EBHIRE (FrehaE+HBEsEre5) 1% 247,606 A, BB E
SR (EHIFE 5 1% 95.8 T, AR A HlX 0.3%:5 (92>
Hdtfee) e otz

O FrENFEEERMIZ 115 B, FrEN FEBRREERIT
103.6 C. HI4EF A LI 5.0%358 (2 7> HiE ki) L2por=,

O ERFEERIT 1,394,943 A, EHEREHIL101.0 T,
AR A FEIX 0.1%38 (2720 H 530) Loz,

ZEELEREES) DB

fe% (BXFHRES AL, AEEEST H2 £=100) B4R A
106 10
103 8
L Sy e ik
ol 02 5 ey W N Rk
P i = b =1 0
o L) & E L el
85 4
S S S S S SR R

H2324 25 26 27 1011121 2 3 45 6 7 8 91011121 2 3 4 5 6 7 8 9
SERK264E ER27E SERK284E

[coanizERAL —— #EESER(EHES)

i VLR A SR H L AR —  No61 2016.12



